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QUESTION 1

An enterprise has deployed devices such as IP PBXs and eServers to provide audio and video communication, instant
messaging, and group messaging functions. At present, the enterprise requires the data conference content sharing
function. To implement the preceding requirement, which of the following components needs to be deployed?

A. SBC

B. Meeting Server

C. UM Server

D. MAA

Correct Answer: B

QUESTION 2

An enterprise has a headquarters, several branches, and totally 1000 employees. To implement the cross-region and
cross-department communication requirement, which of the following deployment modes is the most suitable?

A. Single-node network
B. Multi-node centralized network
C. Multi-node distributed network

Correct Answer: B

QUESTION 3

Each of the following unified gateways can form a two-node cluster in active/standby mode: U1981, U1980, U1960,
uU1911.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 4

In remote disaster recovery scenarios, when the active node (U1981) is faulty, POTS user A on a branch
node (U1911) makes an outgoing call to local PSTN user B through the branch node.

Which of the following is the path along which the SIP signaling of the call is transmitted?

A. U1911-> Standby U1981->U1911
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B. Standby U1981->U1911
C.U1911
D. U1911-> Active U1981->Standby U1981->U1911

Correct Answer: A

QUESTION 5

About the local regeneration call source of U1900 series unified gateways, which of the following statements are
CORRECT? (Multiple Choice)

A. The purpose of configuring the local regeneration call source is to implement the local regeneration function for local
SIP users.

B. The purpose of configuring the local regeneration call source is to implement the local regeneration function for local
POTS users.

C. The local regeneration call source is configured on the primary node.
D. If the local node has only SIP users, the local regeneration call source is not required.

Correct Answer: BD
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